Question 1.

Divide:

(i) = 39pg?r° by — 24p3q°r
(i) —1a2b3 by 7a3b?

Solution:
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Question 2.

Divide:

(i) 9x* — 8x° — 12x + 3 by 3x
(i) 14p2q® — 32p°g? + 15pqg? — 22p + 18q by — 2p“q.
Solution:

Ox* —-8x3 - 12x+3
(i) Y B

14p2¢3 -32p%¢% +15pg? -22p + 18q
- -2p’q

_ |4p2q3 - 32p3q2
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Question 3.

Divide:

(i) 6x%+ 13x + 5 by 2x + 1

(i) 1+y>by1+y

(i) 5+ x — 2x2 by x + 1

(iv) X3 — 6x%2+ 12x — 8 by x — 2
Solution:

(D2x+1)6x2 +13x+5(3x+5
6x% + 3x

10x+5
10x+5

= —

0

LS. Quotient = 3x + 5
and remainder = 0
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. Quotient =y? -y + 1
and remainder =0

(iif) Arranging the terms of dividend in descending
order

of powers of x and then dividing, we get

x+1)-2x2 +x+5(-2x+3
2x% - 2x

+ +

3x+5
3x+3

2

. Quotient = — 2x + 3 and remainder = 2

(iv) x3 — 6x2+ 12x - 8 by x — 2

x=2) - 6x +12r - 8(x' ~4x + 4
x' - 2x

Quotient = x2 — 4x + 4 and remainder = 0



Question 4.

Divide:

(i) 6x° + x? — 26x — 25 by 3x — 7

(i)m3—6m2+7bym -1

Solution:

(i)

3x~7) 6x3 +x2 -26x-25 (2" + 5x+3
6x3 — 14x?
- 4

15x% - 26x - 25
15x% — 35x

- +

Ox - 25
Ox - 21

- +
-4

. Quotient = 2x? + 5x + 3 and remainder = - 4

(i) m=1) m3 - 6m? +7 (m*—5m-5
m3 - m3




Question 5.

Divide:

ia®+2a’+2a+1by+a?+a+

i) 12x° = 17x% + 26X — 18 by 3x? = 2x + 5
Solution:

(D@ +a+1)g3 4242 +2a+1(a+]
a’+ a’+ a

at +a+
al+a+l

0

.. Quotient =a+ 1 and remainder = 0.

(i) 12x3 — 17x%+ 26x — 18 by 3x? — 2x + 5

3 = 2+ 5)I12¢ - 17x + 26x - 18(dx - 3
12 - 8¢ + 20x
- . -
~9x" + 6x - 18
9% +6x - 15
+ - +
-3

.. Quotient = 4x — 3 and remainder = -3



Question 6.
f the area of a rectangle is 8x? — 45y# + 18xy and one
of its sides is 4x + 19y, find the length of adjacent
side.
Solution:
Area of rectangle = 8x? — 45y? + 18xy
One side = 4x + 15y
.. Second (adjacent) side

Area 8x° - 45y° +18xy

= Oneside dx+15y -

2x - 3y

4x + 15y ) 8x" + 18xy - 45y (
8x" + 30xy

~12xy - 45y
~12xy - 45/
+ +

x



